Let F’(:L‘,z ,2) =2yi —zj + 3k. Which of the following statements is true?
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A. (i) only

B. (ii) only

C. (ii) and (iii) only

D. (ii), (iii) and (iv) only
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Identify the surface 222 + 322 = 4z + 2y? through completing the square.
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If F(x,y,2) = xi+yj + zk, ¥ is the unit sphere 22 + y? + 22 = 1 and # is the outward unit normal on
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An object occupies the xogion boundod above by the sphere 72 + y2 + 22 = 32 and below by the upper
nappe of the cone 2% = 22 + y2. The mass density at any point of the object is equal to its distance
from the xy plane. Set up a triple integral in rectangular coordinates for the total mass m of the object.
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